v

= = L
4E03Y(E) 43804 (=h 4305 () 48062 (F) 4H07Y ()
. Ao d}b « AFOHE « AFOH}
=oE P i) A+oH} =HaH =HoH
ZHX|® 71 5,6,9,13 =7 e =7 H o LETFA}T)| bR . AD7|o 131
5 |5 7H XD 561317 S 561316 FEAINEE= 7| Isﬂ? 6,13,16
= |- gH2HOIR o o 2,5,6,10,15,16,18 -X1|ErI|£a1*.7EH|2561315
S RS 56,9,13,15,18 ojLt2| 217 56,10,13 o o uo
56,10,12,13,15,16 I2mEE0| 5613 L EHDJEDA 5613 - XEYE+= 56101315 -HSHSE5
o |- =02 561013 el el ) S mome L H2Ia/AN 5613 . 92X 0 1,5,6,16,17
|- EAHEE 513 ;‘EE,H >6.16 HE71%s cZFFE56 . ME (3
N SUH=ERHES - DTOHEE 56 5 M
FAlSAIE HIZ=ZI%[ 9,13 HiZ=Z1X] 913 EEAs U= 913
B 2= 2 %| 9,13 e - 2E7] 9,13 . ZT2HIO|QE| 2
Of| L4 X| (kcal) 890.37 Of| L4 X| (kcal) 886.28 Of| L X| (kcal) 891.42 Of| L4 X| (kcal) 888.43 Of| L4 X] (kcal) 886.14
A |ZE(g) 12327 =& (g) 127.18 =& (g) 119.98 =E(g) 134.26 = &(g) 101.78
CHE Al (g) 35.70 Tl El(g) 35.50 CHEH R (g) 36.92 CHelEl(g) 27.03 CHe Al (g) 49.68
oF X|E(g) 28.21 X|&(g) 25.99 X|&(g) 30.20 X|Z(g) 27.68 X|&(g) 27.25
H|EFRIA(RE) 291.43 H|Et2IA(RE) 309.26 H|EtZIARE) 232.49 HIEtRIAR.E) HIEFZIAR. E) 82.30
A |EIOtE(mg) 032 E[O}2l(mg) 0.39 E|O}2l(mg) 0.72 E[OF2l(mg) E|0}2l(mg) 0.31
©  [2l2E2tE(mg) 0.29 2|2 &2t (mg) 0.38 2|2 Z 2t (mg) 0.39 2| 2Z 2t (mg) EIEEEHI (mg) 0.35
H|EF2IC(mg) 60.25 H|Et2IC(mg) 29.98 H|Et2IC(mg) 30.24 H|Et2IC(mg) H|EtBIC(mg) 19.45
= 9**(mg) 159.41 Z&E(mg) 112.81 9*A(mg) 179.17 Z&(mg) 229.04 9*A(mg) 169.78
HE(mg) 5.49 HE(mg) 5.11 HE(mg) 6.11 A& (mg) HE(mg) 4.50
AT AR gagof mpat ZEFE = ASLc
v AELYZIIEE @ v HUXELE @
e By
UX|HIZ) : ZLHA  AX|(DFTTHR) - LA
MHE 228 )Y 4 %% G)HHE ©) 2 (7)25H @)/ - |(EHH;|-_)T|_;|'_1L E}LH/M /A \ _I_I__7| f;)LHi H
O 1OEHX|*7| SOt (1)E0HE (130t o Mo %LHM/E* g FUL/ 207 LA
(1S E (155 :'_ | (16)4 27| (17)2 % i 7; St .
(1ZMFE e, SEES) 19R A
Y, 15Y, &K : %LH*P/ S HEH / E=A S

O
2, 528 2L BLE 2N







